1. Residential trips are fantastic for bringing subjects to life | agree | disagree | | don’t know
and giving pupils practical experiences to reinforce their

learning

Reception Class 19 0 2

Year 1 17 0 0

Year 2 23 1 1

Year 3 19 0 1

Year 4 19 0 0

Year5 13 2 0

Total 110 3 4

2. The cost of residential trips (approximately £400 per child | | agree | disagree | | don’t know
at the time of writing) is too much and the school should not

run them.

Reception Class 13 14 4

Year 1 0 16 1

Year 2 5 18 2

Year 3 5 14 1

Year 4 1 14 4

Year 5 3 10 2

Total 17 86 14

3. The cost of one residential trip (approximately £400 at the | | agree | disagree | | don’t know
time of writing) is affordable.

Reception Class 14 3 4

Year 1 16 0 1

Year 2 18 4 3

Year 3 14 2 4

Year 4 13 3 3

Year 5 12 2 1

Total 87 14 16

4. The school should run one residential trip only in either | agree | disagree | | don’t know
Class 5 or Class 6.

Reception Class 14 5 2

Year 1 9 5 3

Year 2 12 11 2

Year 3 13 4 3

Year 4 9 8 2

Year 5 4 10 1

Total 61 43 13

5. The cost of two residential trips (approximately £800 over | | agree | disagree | | don’t know
two years at the time of writing) is affordable.

Reception Class 5 13 3

Year 1 8 4 5

Year 2 9 13 3

Year 3 7 9 4

Year 4 6 9 4

Year5 7 5 3




Total 42 53 22

6. The school should run two residential trips in both Classes | | agree | disagree | | don’t know
5and 6.

Reception Class 7 9 5

Year 1 10 4 3

Year 2 12 10 3

Year 3 9 8 6

Year 4 8 7 4

Year 5 9 5 1

Total 52 43 22




